Hedemora BS
"simultan" 2023-04-05

Partavling, 6 bord, 12 par. Antal brickor: 12. Medel: 60.0.

Plac Par Poang % Namn MID Klubb
1 B2 94.6 78.81  Anne Marie Grezel - Arjan Rijsdorp 202354 202347 Hedemora BS
2 A3 82.9 69.05 Dorothy Tagt - Peter Wester 7188 54 Borlange BK - Hedemora BS
3 Bl 71.0 59.13  Bibbi Bergkvist - Eva Andersson 32718 202346 Hedemora BS
4 B4 65.5 54.60 Thomas Larsson - Peter Caris 202351 202348 Hedemora BS
5 Ad 61.7 51.42  Michael Olsson - Solbritt Haupt Olsson 65205 65206  Saters BK
6 A2 59.0 49.13  Evy Westlund - Love Haggkvist 31647 46 Hedemora BS
7 A7 58.1 48.43  Jan Holm - Yngve Karlsson 45 21341  Hedemora BS
8 A8 53.4 4451  Anders Ivarsson - Kerstin Moller 24882 94198  Hedemora BS
9 Al 47.1 39.23  Bjorn Holm - Dag Josefsson 89793 51 Hedemora BS - Folkare BK
10 A6 44.7 37.25 Jorgen Klasson - Carl-Johan Carlsson Melin 28214 28436  Hedemora BS
11 B3 43.0 35.86 Mari Axstal Linde - Anna Eriksson 202350 202352 Hedemora BS
12 A5 39.1 32.57 Bo Lundqvist - Marianne Lundqvist 60420 60419  Saters BK
1 4 EK32 Basta kontrakt 2 4874 Basta kontrakt 3 4 E65 Basta kontrakt
Nord vD3 3v N =140 Ost vKng84 2NT S =120 Syd vKD 5¢v SD-1-100
Ingen 4 Kn652 NS + Kn852 ov + 10765
#EDKn & ¢ v & NT »E107 & ¢ v & NT #E543 & ¢ v & NT
4D10976 4Knb5 N65958 4 Kn1092 D53 N9 77 6 8 4 KD843 «Kn1072 N5 6 103 4
v- v E9876 S659538 vD1095 vK73 S97778 v3 v Kn42 S 56 103 4
+ D94 ¢ EK107 06 7 475 + ED10 49763 045665 ¢EK92 +43 07 6 3 107
2108732 %64 V67475 #Kn2 2943 V4560675 K106 #D982 vV 76 3107
484 » EK6 49
v KKn10542 vE62 v E1098765
+83 + K4 + DKn8
#K95 #KD865 &Kn7
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
A6 A5 BNN= v6 400 100 0.0(B2 B3 3NN= 3 600 10.0 0.0[{ A8 Al 4v S= &K 420 10.0 0.0
B2 B3 2v O-4 438 200 80 20|A4 A2 2NN= 43 120 50 5.0(B4 Bl 1¢ V-2 vQ 200 80 20
A4 A2 INN+3 v6 180 6.0 40(B4 Bl INS+1 ¥5 120 50 5.0|B2 B3 3vy S+1 43 170 6.0 4.0
A8 Al 3¢ O-3 &5 150 40 6.0[A6 A5 2NS= v¥5 120 50 50[A6 A5 3NN-3 4 -150 40 6.0
A7 A3 2v N= +A 110 20 B8.0|A8 Al INS+1 &J 120 50 50|A4 A2 1a V+3 &A -170 20 80
B4 Bl INN= #3 90 0.0 10.0[A7 A3 2&#S= &) 90 0.0 10.0[ A7 A3 3NN-5 43 -250 0.0 10.0
4 s K Bésta kontrakt 5 4985 Bésta kontrakt 6 « ED94 Bésta kontrakt
Vast v KD542 4¢ S =130 Nord vKD732 44 V =-420 Ost v DKn5 7NT S =1520
Alla + DKn54 NS + D10754 ov 87
#EKn4 & ¢ v & NT &- & ¢ v & NT #ED86 & ¢ v & NT
4 EKn1075 #4D93 N8 9656 & KKn4 4 ED72 N25535 4 K8 4Kn107532 N 1113108 13
v E986 vKn103 S 8 106 5 6 vE v Kn104 S 25535 v K864 v 1097 S 1213108 13
¢ K98 ¢72 0536187 + KKn86 ¢E9 O 117 6 9 8 +94 ¢ DKn3 010250
9 «D8762 V53787 #Kn10976 #D853 V 118 7 108 #Kn10942 &5 V10250
4 8642 41063 46
v7 v 9865 vE32
+ E1063 32 + EK10652
#K1053 #EK42 #K73
Par Kontr ut Res Poang Par Kontr Ut Res Poang Par Kontr Ut Res Poang
A7 A6 24 S-1 4A -100 10.0 0.0[{A7 A6 3NO-2 v9 100 90 10|Al A4 3NN+4 o2 520 10.0 0.0
Al A4 29y N-2 43 -200 70 30(A8 A2 3NV-2 v2 100 90 1.0|A8 A2 3NN+3 43 490 80 20
B2 B3 2y N-2 &2 -200 70 30(B4 B2 440= ¢2 -130 6.0 40(B4 B2 3NN+2 T 460 40 6.0
B4 Bl 2y N-3 43 -300 20 B80|Al1 A4 340+2 ¢3 -150 3.0 7.0[{A5 A3 3NN+2 T 460 40 6.0
A5 A3 2y N-3 43 -300 20 B8.0[|A5 A3 240+3 +¢3 -150 30 7.0|A7 A6 3NN+2 T 460 40 6.0
A8 A2 3y N-3 3 -300 20 80(B3 Bl 540= ¥5 -400 0.0 10.0(B3 Bl 2NN= 42 120 0.0 10.0
7 &~ K87 Bésta kontrakt 8 473 Bésta kontrakt 9 & DKn6 Bésta kontrakt
Syd vK8 5v V =-650 Vast vED10 6NT N =990 Nord v D952 34 V =-140
Alla + 109632 Ingen + EKD1042 ov + Kn6
«KD8 & ¢ v & NT *62 & ¢ v & NT #KKn83 & ¢ v & NT
4E1096 45 N85283 494 4 Kn102 N 11128 1212 410942 & EK7 N6 3645
vKn74 vED10952 S 7 52 8 3 vKKn98654 v3 S 11128 1212 v8 v K10764 S 63645
¢ EK54  + Kn87 O5 7 115 8 ¢ Kn7 49853 020500 ¢+ E10872 ¢ D53 O 6 107 8 7
&52 #Kn64 vV 57 115 8 #85 #E10943 V20500 «D92 &E5 vV 7 107 9 7
4 DKn432 » EKD865 4853
v63 v72 v EKn3
+D +6 + K94
#E10973 #KDKn7 »10764
Par Kontr Ut Res Poéang Par Kontr ut Res Poéang Par Kontr ut Res Poéang
A2 A5 24 N= &5 110 100 0.0 A6 A4 6NN+1 3 1020 100 0.0(B4 B3 2v O-2 +4 200 10.0 0.0
B4 B2 2¢ V-1 48 100 8.0 20|Al A7 44 S+2 &8 480 50 50|Al A7 3NV-1 &3 100 80 20
A6 A4 3y O= ¢Q -140 6.0 40|A2 A5 44 S+2 &6 480 50 50[A6 A4 24 V= ¢J -110 6.0 4.0
B3 Bl 2y O+2 43 -170 40 6.0(B3 Bl 44 S+2 vJ 480 50 5.0(Bl1 B2 2NV= &8 -120 30 7.0
Al A7 4v O+1 +Q -650 1.0 9.0|A8 A3 44 S+2 &8 480 50 50[A2 A5 2NV = &8 -120 30 7.0
A8 A3 4y O+1 42 -650 10 90(B4 B2 34 S+3 vJ 230 0.0 10.0[ A8 A3 INO+2 +4 -150 0.0 10.0
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10 46 Basta kontrakt 11 4 ED983 Basta kontrakt 12 4 D2 Basta kontrakt
Ost v EKD542 ANT S =630 Syd v 387 2¢ S =90 Vast v E982 3¢ V =-110
Alla *74 Ingen +3 NS + KKn10
#DKn107 & ¢ v & NT #K9632 & ¢ v & NT &#KKn92 L Y
4 Knl0875 &K93 N 107 107 10 4KKn4 41065 N6 86 77 410 4KKn9873 N 9 4 7 6
vKnl0 v 98 S 107 107 10 vEK654 v92 S686 77 vK6543 v10 S8475
¢ DKn106 9853 026262 +5 4109876 O54656 ¢+ D643 ¢ E752 03857
98 &#EKG3 V262%62 &DKn74 #E105 V54605F€6 D76 &E8 V496 8
& ED42 a72 4 E654
v 763 v DKn103 v DKn7
¢+ EK2 + EKDKn42 +98
#542 »8 #10543
Par Kontr Ut Res Poang Par Kontr Ut Res Poéang Par Kontr Ut Res Poang
A3 A6 4y N+1 v9 650 90 10[(A3 A6 3¢DS= vA 470 100 0.0|A2 Al 34 O0-2 +Q 100 9.0
A7 A5 4y N+1 &A 650 90 10[A2 Al 2¢ S+2 vA 130 8.0 20[A7 A5 24 O-2 +9 100 9.0
B4 B3 3NN+1 43 630 6.0 40|A7 A5 2¢ S+1 ¥vA 110 6.0 40(A3 A6 24 O-1 +vQ 50 4.0
A8 A4 4v N= &A 620 40 6.0(B4 B3 3vy V-2 &3 100 40 6.0|/B4 B3 24 O-1 ¢Q 50 4.0
Bl B2 2v N+2 &A 170 1.0 9.0|Bl B2 2¢ S-1 ¥A -50 20 B80|A8 A4 24 O-1 3 50 4.0
A2 Al 2v N+2 &A 170 1.0 90| A8 A4 44 N-2 v2 -100 0.0 10.0| Bl B2 24 V= &3 -110 0.0 1
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